
2221SCVH-1
2200 psi @ 2 gpm

Part Number.............................................Description

Pump Information:         D28703...........................DeVilbiss Pump Kit, Radial
* 16848........................................Thermal Relief Valve

Engine Information:        GCV160 .......................................Engine, Honda 5.5
16255 ............................................Oil, Engine (20oz)

Frame Information: D22908 ............................................................Frame
D22268...............................................................Foot 
D22920............................................Handle, Bagged
D22275...........................................................Tire, 8”
D22909..................................................Engine Base
D21630................................................Pump Shroud
D22206 ...............................................................Axle
D22305 ...................................Wheel Bracket (qty 2)

Hardware Information:

Wheel to Axle:
W137.........................................................Pal Nut (2)

Foot: D23208 ....................................Screw, 1/4-20 x .750

Engine to Frame: 16087 (qty 3) ..................................Flange Head Nut
D22906 (qty 3).............HHC Screw, 5/16-18 x 1.25”

Engine to Pump D27152..............................................Screw, 5/16-24

Pump Shroud to 
Engine Base D22308 ..................................Screw, 5/16-18 x 2 (4)

D22692.............................................Nut, 5/16-18 (4)
Handle to Frame:

● 16471 ...........................................................Knob (2)
● D23196 ..........................................Saddle  Bolts  (2)

Wheel Bracket to Frame D28397....................................Screwl, 1/4-20 x 3/4"

Accessory Information: 17781 .........................Hi Pressure Hose, 1/4” x 25ft
15227 ...............................................Wand/Mult-Reg
17780 ........................................Trigger Gun, 22 mm

● H140 .................................................Chemical Hose
D22962 ................................................Bagged Parts

● NCT001................................................Cleaning Tool
● 16797 ...................................................Allen Wrench

Manual Information: ● D22878 ................Manual, General English/Spanish
NOTE: Because of a time issue the -1 used the full 
size manual used on the non dash unit

✔ D20737 .............................................Manual, Engine

● Included in Bagged Parts
✔ Included in Bagged Handle
* Included in Pump Kit


